SLAB THICKNESS - 100mm (o) 4" |
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RATIO =3:3% =143

1-3l; =om

Load on long span = 7.25x3.58x0.84 = 10.90 KN/m =~11.00KN/m
2

Loed on shorter span = 7.25x3.58 = 8.65KNm = 9.00KNim
3
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SLAB THICKNESS - 100 mmn (or) 4" |

RATIO =28 = 1144

1-3ls =078

Load on Jong span = 725x1.80x0.75 = 4.89 = 5.00KN/m
2

Load on shorter span = 7.25x1.80 = 4.50KN/m
3

(213m)

RATIO -%71-24-1_15 [sLAB TMICKXNESS - 100 man () 4 |

1 .
l1-3m =0®
Load on long span = 725 x L.76x0.69 = 440 KN/m ~4.50 KN/m
2

Load on shorter span = 7.25x1.76 = 425KN/m
3

(213m)

RATIO 'IZE=L7‘5 [ sLA8 THICKNESS - 100mm (@) # |

D .
1-3m =089
Load on long span = 725x1.22x0.89 =394 KN/m =4.00KN/m
2

Load on shorter span = 7.25x1.22 = 295KN/m = 3.00KN/m
3

[ s1AB THRCKNESS - 100mm (o) # |

RATIO =341 = 155

15l =08

Load on long span = 725x3.28x0.86 = 1023 KN/m =r 10.50 KN/m
2

Load on shorter span = 7.25x3.28 = 7.93KN/m = 8.00KN/m
3

(358m)

SIAB THICKNESS - 115 mm (o) 47 |

-l o
RATIO =373 = 18

14l =0m
Load on long span = 8.00x3.58x0.84 = 11.99 KN/m =~ 12.00KN/m
2

Load on shorter span = 8.00x358 = 955KN/m = 10.00KN/m
3

(282m)

RATIO =38 = a2 [SLAB THICKNESS - 100 () # |

1- L5 =08

Load on long span = 7.25 ¥ 2.82 Y 0.898 = 9.18KN/m = 9.50 KN/m
2

Load on shorter span = 7.25x2.82 = 6.82 KN/m =~ 7.00 KN/m
3

56
(777m)

[ S4B TOCKNESS - 115 mm (o) 47 |

RATID =170 =237

Load on long span = 8.00x3.58 = 1432 KN/m = 14.50 KN/'m
2

Load on shorter span = 8.00x3.58 = 477KN/m = 500KN/m
6




